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Magnitude = Area

Max. Area when
0 =90°







RHR and unit vectors
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Want torque
about this

point F

/ Force acts here.

T =rF, =rFsin0

Note: F, means the component of F perpendicular
to R — not the vertical component of F.

Use this method if both R and 0 are easy to find.



Want torque
1 . .
about this Line of action

|
point -

R,

Lever arm

Force acts here.

T=R,F
Use this method if the lever arm is easy to find.
Often used for vertical or horizontal forces.



Y X
Want torque Force acts
about this point X here.
7=RxF

= (ix+]y)><(fFX +]Fy)
IA<(xFy -VE,)



Easier to Treat as Lever Arm Twice

:Fy Line of Action

F, Line of Action
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Want torque J. _ _ , Forceacts
about this point X here.

T, = +xF, —yk



